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The GCF of 36 and 90

Method 1

1)  List the factors of each number.

90:   1     2      3     5     6     9
       90   45    30    18  15   10

36:  1     2      3     4    6  
      36   18    12    9    6

2)  Circle the common factors.

3)  The greatest of these will be your Greatest Common Factor:
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The GCF of 36 and 90

Method 2

1)  Prime factor each number.

36  =  2 ● 2 ● 3 ● 3
90  =  2 ● 3 ● 3 ●  5 

2)  Circle each pair of  common prime factors.

3)  The product of these common prime factors will be the Greatest Common Factor:

2 ● 3 ● 3  = 18
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36 90
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12 30
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Questions
1.  36

54

2. 40
64

3.  15
40

4. 18
12
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Using a factor tree, let's look at factoring 
polynomials. (Terms with numbers and letters)

Factors
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GCF Between

1. 35x2m and 21m2x

2. 36xy3 and 24y2
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